



# Some Properties and Inequalities for a Two-Parameter Generalization of the Incomplete Exponential Integral Function

Ahmed Yakubu <sup>a\*</sup>, Bashiru Abubakari <sup>b</sup>  
and Francis Kwaku Assan <sup>c</sup>

<sup>a</sup>Department of Mathematics, Faculty of Physical Sciences, University for Development Studies, Nyankpala Campus, P. O. Box TL1350, Tamale, N/R, Ghana.

<sup>b</sup>Department of Mathematics Education, Faculty of Education, University for Development Studies, Main Campus, Tamale, N/R, Ghana.

<sup>c</sup>Department of Mathematics, Akrokeri College of Education, Obuasi, A/R, Ghana.

## Authors' contributions

This work was carried out in collaboration among all authors. All authors read and approved the final manuscript.

## Article Information

DOI: 10.9734/ARJOM/2023/v19i10737

## Open Peer Review History:

This journal follows the Advanced Open Peer Review policy. Identity of the Reviewers, Editor(s) and additional Reviewers, peer review comments, different versions of the manuscript, comments of the editors, etc are available here: <https://www.sdiarticle5.com/review-history/103863>

Received: 12/06/2023

Accepted: 16/08/2023

Published: 30/08/2023

Original Research Article

## Abstract

Motivated by the  $p$ -analogue of the exponential integral function [1], we introduce a two-parameter generalization of the Incomplete Exponential Integral function. By using the classical Hölder's and Young's inequalities, among other analytical techniques, we establish some new inequalities involving the generalized function.

\*Corresponding author: E-mail: [ahmed.yakubu@uds.edu.gh](mailto:ahmed.yakubu@uds.edu.gh);

*Keywords:* Two-parameter Generalization of the incomplete exponential integral function; Holder's inequality and Young's inequality for scalars.

**2010 AMS Subject Classification:** 26D07, 33E50.

## 1 Introduction

The classical exponential integral function is defined by Schloemich in [2] as

$$E_n(x) = \int_1^\infty t^{-n} e^{-tx} dt \quad x > 0, \quad n \in \mathbb{N}. \quad (1)$$

For any  $1 < a < b$  and  $n \in \mathbb{N}_0$ , the incomplete exponential integral function  ${}_a^b E_n(x)$  is defined by [3] as

$${}_a^b E_n(x) = \int_a^b t^{-n} e^{-xt} dt \quad (2)$$

for all  $x > 0$ .

In [3] it was proved that the incomplete exponential integral function is nonincreasing and then gave the inequality as follows,

$${}_a^b E_{m+n} \left( \frac{x}{u} + \frac{y}{v} \right) \leq \left( {}_a^b E_{um}(x) \right)^{\frac{1}{u}} \left( {}_a^b E_{vn}(y) \right)^{\frac{1}{v}} \quad (3)$$

where  $1 < a < b$ ,  $x, y > 0$ ,  $u > 1 = \frac{1}{u} + \frac{1}{v}$ , and  $m + n, um, vn \in \mathbb{N}_0$ ,

Also

$${}_a^b E_n(xy) \leq \left( {}_a^b E_n(ux) \right)^{\frac{1}{u}} \left( {}_a^b E_n(vy) \right)^{\frac{1}{v}} \quad (4)$$

where  $1 < a < b$ ,  $x, y > 1$ ,  $n \in \mathbb{N}_0$ ,  $u > 1$ ,  $\frac{1}{u} + \frac{1}{v} = 1$ , and  $x + y \leq xy$ .

Furthermore,

$${}_a^b E_n(xy) \geq \left( {}_a^b E_n(ux) \right)^{\frac{1}{u}} \left( {}_a^b E_n(vy) \right)^{\frac{1}{v}} \quad (5)$$

where  $1 < a < b$ ,  $x > 0$ ,  $0 < y < 1$ ,  $n \in \mathbb{N}_0$ ,  $0 < p < 1 = \frac{1}{u} + \frac{1}{v} = 1$  and  $x + y \geq xy$ .

And finally,

$${}_a^b E_n(xy) \geq \left( {}_a^b E_n \left( \frac{rx^u}{u} \right) \right)^{\frac{1}{r}} \left( {}_a^b E_n \left( \frac{sy^v}{v} \right) \right)^{\frac{1}{s}} \quad (6)$$

where  $1 < a < b$ ,  $x, y > 1$ ,  $n \in \mathbb{N}_0$ ,  $u > 1$ ,  $0 < r < 1$  and  $\frac{1}{u} + \frac{1}{v} = 1 = \frac{1}{r} + \frac{1}{s}$ .

And in [4] generalizations of inequalities (3),(4), (5) and (6) were established as follows,

For  $x_i > 0$ ,  $n_i \geq 0$ , and  $u_i > 1$ , be such that  $u_i n_i \in \mathbb{N}_0$ , for all  $i \in \mathbb{N}_m$ . Assume that  $1 < a < b$ ,  $\sum_{i=1}^m u_i = 1$ , and  $\sum_{i=1}^m n_i \in \mathbb{N}_0$ .

$${}_a^b E_{\sum_{i=1}^m n_i} \left( \sum_{i=1}^m \frac{x_i}{u_i} \right) \leq \prod_{i=1}^m \left( {}_a^b E_{u_i n_i}(x) \right)^{\frac{1}{u_i}} \quad (7)$$

is valid. Which is a generalization of (3).

For  $n \in \mathbb{N}_0$ ,  $x_i$  and  $u_i > 1$  for all  $i \in \mathbb{N}_m$ . Assume that  $1 < a < b$ ,  $\sum_{i=1}^\infty u_i = 1$  and  $\sum_{i=1}^m x_i \leq \prod_{i=1}^m x_i$ .

Then

$${}_a^b E_n \left( \prod_{i=1}^m x_i \right) \leq \prod_{i=1}^m \left( {}_a^b E_n(u_i x_i) \right)^{\frac{1}{u_i}} \quad (8)$$

is valid. Which is also generalization of (4).

For  $n \in \mathbb{N}_0$ ,  $0 < x_i < 1$  and  $0 < u_i < 1$  for all  $i \in \mathbb{N}_m$ . Assume that  $1 < a < b$ ,  $\sum_{i=1}^{\infty} u_i = 1$  and  $\sum_{i=1}^m x_i \geq \prod_{i=1}^m x_i$ .

Then

$${}_a^b E_n \left( \prod_{i=1}^m x_i \right) \geq \prod_{i=1}^m \left( {}_a^b E_n(u_i x_i) \right)^{\frac{1}{u_i}} \tag{9}$$

is valid. Which is also generalization of (5).

Inequality (6) is generalized as follows,

for  $n \in \mathbb{N}_0$ ,  $x_i > 1$ ,  $u_i > 1$  and  $0 < r_i < 1$  for all  $i \in \mathbb{N}_m$ . Assume that  $1 < a < b$  and  $\sum_{i=1}^m u_i = 1 = \sum_{i=1}^m r_i$ ,

$${}_a^b E_n \left( \prod_{i=1}^m x_i \right) \geq \prod_{i=1}^m \left( {}_a^b E_n \left( \frac{r_i x_i^{u_i}}{u_i} \right) \right)^{\frac{1}{r_i}}. \tag{10}$$

The focus of this paper is on the incomplete exponential integral function defined in [5] as

$$E_n(a, x) = \int_x^{\infty} t^{-n} e^{-at} dt \quad x \geq 0, \quad a > 0, \quad n \in \mathbb{N}_0 \tag{11}$$

Clearly,  $E_n(a, 1) = E_n(a)$ .

The  $p$ -analogue of the exponential integral function,  $E_{n,p}(x)$  is defined for  $x > 0$ ,  $p > 1$  and  $n \in \mathbb{N}_0$  by [1]

$$E_{n,p}(x) = \int_1^p t^{-n} A_p^{-xt} dt, \tag{12}$$

and the  $i$ -th derivative of (12) is given by [6]

$$E_{n,p}^{(i)}(x) = (\ln A_p^{-1})^i \int_1^p t^{i-n} A_p^{-xt} dt, \tag{13}$$

where,  $E_{n,p}(x) \rightarrow E_n(x)$  as  $p \rightarrow \infty$ ,  $A_p = (1 + \frac{1}{p})^p$  and  $E_{n,p}^{(i)}(x) \rightarrow E_n^{(i)}(x)$  as  $p \rightarrow \infty$ .

The function emerges in the investigation of radiative exchanges in a two-dimensional planar medium [7]. This special function has been investigated in diverse ways (see [8], [9], [10], [11], [12], [13] and the related references therein).

The objective of this paper is to introduce a two-parameter generalization of the incomplete exponential integral function of (12) and to establish some properties of the function. In this paper, we will generalize inequalities (3), (4), (5), (6), (7), (8), (9) and (10).

## 2 Preliminaries

We begin with the following well known results( see for instance [14], [15], [16] or [17]).

**Lemma 2.1.** (Holder's Inequality) Let  $\eta, \mu > 1$  and  $\frac{1}{\eta} + \frac{1}{\mu} = 1$ . If  $f(t)$  and  $g(t)$  are continuous real-valued functions on  $[a, b]$ , then inequality

$$\int_a^b |f(t)g(t)| dt \leq \left( \int_a^b |f(t)|^\eta dt \right)^{\frac{1}{\eta}} \left( \int_a^b |g(t)|^\mu dt \right)^{\frac{1}{\mu}}, \tag{14}$$

holds. With equality when  $|g(t)| = c|f(t)|^{\eta-1}$ . If  $\eta = \mu = 2$ , the inequality becomes Schwarz's Inequality.

**Lemma 2.2.** (Young's Inequality) Let  $a, b > 0$ ,  $\eta, \mu > 1$ , and  $\frac{1}{\eta} + \frac{1}{\mu} = 1$ . Then inequality

$$ab \leq \frac{a^\eta}{\eta} + \frac{b^\mu}{\mu}, \tag{15}$$

holds.

### 3 Definition of A Two-Parameter Generalization of the Incomplete Exponential Integral

**Definition 3.1.** Let  $x > 0, v \geq 1, p > 1$ , and  $n \in \mathbb{N}_0$ . Then, the function is defined as

$$E_{n,p}(x, v) = \int_v^p t^{-n} A_p^{-xt} dt, \tag{16}$$

where,  $E_{n,p}(x, 1) = E_{n,p}(x)$ ,  $E_{n,p}(x, v) \rightarrow E_n(x, v)$  as  $p \rightarrow \infty$ ,  $E_{1,p}(1, v) \rightarrow \Gamma(0, v)$  as  $p \rightarrow \infty$  and  $E_{n,p}(x, v) = x^{n-1} E_{n,p}(xv, v)$ .

#### 3.1 Some Properties and Inequalities of $E_{n,p}(x, v)$

**Lemma 3.2.** The recursive relation

$$\ln A_p^x E_{n,p}(x, v) = v^{-n} A_p^{-vx} - p^{-n} A_p^{-px} - n E_{n+1,p}(x, v), \tag{17}$$

holds for  $n \in \mathbb{N}_0, v \geq 1$ .

*Proof.* Using (16) and by means of integration by parts

$$\begin{aligned} E_{n,p}(x, v) &= \int_v^p t^{-n} A_p^{-xt} dt \\ &= \left[ -\frac{t^{-n} A_p^{-xt}}{\ln A_p^x} \right]_v^p - \frac{n}{\ln A_p^x} \int_v^p t^{-(n+1)} A_p^{-xt} dt \\ &= \frac{1}{\ln A_p^x} [v^{-n} A_p^{-vx} - p^{-n} A_p^{-px} - n E_{n+1,p}(x, v)], \end{aligned}$$

which concludes the proof.

**Theorem 3.3.** Let  $p > 1$  and  $m, n \in \mathbb{N}_0$  such that  $\eta m, \mu n \in \mathbb{N}_0$ .

Then, the inequality

$$E_{n,p} \left( \prod_{i=1}^m x_i, v \right) \leq \prod_{i=1}^m (E_{n,p}(\eta_i x_i, v))^{\frac{1}{\eta_i}}, \tag{18}$$

holds for  $x, y > 0, v \geq 1, \eta > 1$  and  $\frac{1}{\eta} + \frac{1}{\mu} = 1$ ,

*Proof.* Using (16) and Hölder’s inequality for integrals, we have

$$\begin{aligned} E_{n,p} \left( \prod_{i=1}^m x_i, v \right) &\leq E_{n,p} \left( \sum_{i=1}^m x_i, v \right) \\ &= \int_v^p t^{-n} A_p^{-t(\sum_{i=1}^m x_i, v)} dt \\ &= \int_v^p \left( \prod_{i=1}^m t^{-\frac{n}{\eta_i} A_p^{-(x_i, v)t}} \right) dt \\ &\leq \prod_{i=1}^m \left( \int_v^p t^{-n} A_p^{-\eta_i(x_i, v)t} dt \right)^{\frac{1}{\eta_i}} \\ &= \prod_{i=1}^m (E_{n,p}(\eta_i x_i, v))^{\frac{1}{\eta_i}}. \end{aligned}$$

Which is a generalization of (3) and (7)

**Theorem 3.4.** Let  $p > 1$  and  $m, n \in \mathbb{N}_0$  such that  $\eta m, \mu n \in \mathbb{N}_0$ .

Then, the inequality

$$E_{\sum_{i=1}^m n_i, p} \left( \sum_{i=1}^m \frac{x_i, v}{\eta_i} \right) \leq \prod_{i=1}^m (E_{\eta_i, n_i, p}(x, v))^{\frac{1}{\eta_i}}, \tag{19}$$

holds for  $x, y > 0, v \geq 1, \eta > 1$  and  $\frac{1}{\eta} + \frac{1}{\mu} = 1$ ,

*Proof.* Using (16) and Hölder’s inequality for integrals, we have

$$\begin{aligned} E_{\sum_{i=1}^m n_i, p} \left( \sum_{i=1}^m \frac{x_i, v}{\eta_i} \right) &= \int_v^p t^{-\sum_{i=1}^m n_i} A_p^{-t \left( \sum_{i=1}^m \frac{x_i, v}{\eta_i} \right)} dt \\ &= \int_v^p \left( \prod_{i=1}^m t^{-n_i} A_p^{-\left( \frac{x_i, v}{\eta_i} \right) t} \right) dt \\ &\leq \prod_{i=1}^m \left( \int_v^p t^{-\eta_i, n_i} A_p^{-(x_i, v)t} dt \right)^{\frac{1}{\eta_i}} \\ &= \prod_{i=1}^m (E_{\eta_i, n_i, p}(x, v))^{\frac{1}{\eta_i}}. \end{aligned}$$

Which is also generalization of (4) and (8)

**Theorem 3.5.** Let  $p > 1$  and  $m, n \in \mathbb{N}_0$  such that  $\eta m, \mu n \in \mathbb{N}_0$ .

Then, the inequality

$$E_{n, p} \left( \prod_{i=1}^m x_i, v \right) \geq \prod_{i=1}^m (E_{n, p}(\eta_i x_i, v))^{\frac{1}{\eta_i}}, \tag{20}$$

holds for  $x, y > 0, v \geq 1, \eta > 1$  and  $\frac{1}{\eta} + \frac{1}{\mu} = 1$ ,

*Proof.* Using (16) and Hölder’s inequality for integrals, we have

$$\begin{aligned} E_{n, p} \left( \prod_{i=1}^m x_i, v \right) &\geq E_{n, p} \left( \sum_{i=1}^m x_i, v \right) \\ &= \int_v^p t^{-n} A_p^{-t \left( \sum_{i=1}^m x_i, v \right)} dt \\ &= \int_v^p \left( \prod_{i=1}^m t^{-\frac{n}{\eta_i}} A_p^{-(x_i, v)t} \right) dt \\ &\geq \prod_{i=1}^m \left( \int_v^p t^{-n} A_p^{-\eta_i(x_i, v)t} dt \right)^{\frac{1}{\eta_i}} \\ &= \prod_{i=1}^m (E_{n, p}(\eta_i x_i, v))^{\frac{1}{\eta_i}}. \end{aligned}$$

Which is also generalization of (5) and (9)

**Theorem 3.6.** Let  $p > 1$  and  $m, n \in \mathbb{N}_0$  such that  $\eta m, \mu n \in \mathbb{N}_0$ . Then, the inequality

$$E_{n,p} \left( \prod_{i=1}^m x_i, v \right) \geq \prod_{i=1}^m \left( E_{n,p} \left( r_i \left( \frac{x_i^{\eta_i}, v}{\eta_i} \right) \right) \right)^{\frac{1}{r_i}}, \tag{21}$$

holds for  $x, y > 0, v \geq 1, \eta > 1, \frac{1}{\eta} + \frac{1}{\mu} = 1$  and  $\prod_{i=1}^m x_i, v \leq \sum_{i=1}^m \frac{x_i^{\eta_i}, v}{\eta_i}$

*Proof.* Using (16) and Hölder’s inequality for integrals, we have

$$\begin{aligned} E_{n,p} \left( \prod_{i=1}^m x_i, v \right) &\geq E_{n,p} \left( \sum_{i=1}^m \frac{x_i^{\eta_i}, v}{\eta_i} \right) \\ &= \int_v^p t^{-n} A_p^{-t \left( \sum_{i=1}^m \frac{x_i^{\eta_i}, v}{\eta_i} \right)} dt \\ &= \int_v^p \left( \prod_{i=1}^m t^{-\frac{n}{r_i} A_p^{-\left( \frac{x_i^{\eta_i}, v}{\eta_i} \right) t}} \right) dt \\ &\geq \prod_{i=1}^m \left( \int_v^p t^{-n} A_p^{-r_i \left( \frac{x_i^{\eta_i}, v}{\eta_i} \right) t} dt \right)^{\frac{1}{r_i}} \\ &= \prod_{i=1}^m \left( E_{n,p} \left( r_i \left( \frac{x_i^{\eta_i}, v}{\eta_i} \right) \right) \right)^{\frac{1}{r_i}}. \end{aligned}$$

Which is also a generalization of (6) and (10)

## 4 Conclusion

we introduced a two-parameter generalization of the Incomplete Exponential Integral function. By using the classical Hölder’s and Young’s inequalities, among other analytical techniques, we established some new inequalities involving the generalized function. Furthermore, we generalized inequalities (3), (4), (5), (6), (7), (8), (9) and (10).

## Competing Interests

Authors have declared that no competing interests exist.

## References

- [1] Yakubu A, Nantomah K, Iddrisu MM. A p-Analogue of the Exponential Integral Function and Some Properties. Adv. Inequal. Appl. 2020;(2020):7:1-9.
- [2] Chiccoli C, Lorenzutta S, Maino G. Recent results for generalized exponential integrals. Comput. Math. Appl. 1989;19(5):21-29.
- [3] Sroysang B. Inequalities for the incomplete exponential integral function. Commun. Math. Appl. 2013;4(2):145-148.

- [4] Sroysang B. More on some inequalities for the incomplete exponential integral function. *Mathematica Aeterna*. 2014;(2):131-134.
- [5] Sulaiman WT. Turan inequalities of the exponential integral function. *Commun. Optima. Theory*. 2012;1:35-41.
- [6] Yakubu A, Nantomah K, Iddrisu MM. The  $i$ -th Derivative of the  $p$ -Analogue of the exponential integral function and some properties. *Journal of Mathematical and Computational Science*. 2020;10(5):1801-1807.
- [7] Hunt GE. The transport equation of radiative transfer with axial symmetry. *SI AMI. Appl. Math*. 1968;16(1143):228-237.
- [8] Milgram MA. The generalized integro-exponential function. *Math. Comp*. 1985;(44):441-458.
- [9] Nantomah K, Merovci F, Nasiru S. A generalization of the exponential integral and some associated inequalities. *Honan Math. J*. 2017;39(1):49-59.
- [10] Salem A. A  $q$ -analogue of the exponential integral. *Afr. Math. Un. Springer-Verlag*. 2011;24:117-125.
- [11] Miller J, Hurst RP. Simplified calculation of the exponential integral. Office of Ordnance Research, S. Army. 1957;187-193.
- [12] Kaplan C. On some functions related to the exponential integrals. Aerospace Research Lab. ARL-70-0097; 1970.
- [13] Jameson GJO. Sine, cosine and exponential integrals. *Math. Comput*. 2015;99:276-289.
- [14] Nantomah K. Generalized Holder's and Minkowski's inequalities for Jackson's  $q$ -integral and some applications to the incomplete  $q$ -gamma function. *Abstr. Appl. Anal*. 2017;6. Article ID 9796873.
- [15] Kazarinoff ND. *Analytic inequalities*, Holt, Rinehart and Winston, New York; 1961.
- [16] Mitrinovic DS. *Analytic inequalities*. Springer-Verlag, New York; 1970.
- [17] Monica MA, Nantomah K. Some inequalities for the Chaudhry-Zubair Extension of the gamma function. *Asian Res. J. Math*. 2019;14(1):1-9.

---

© 2023 Yakubu et al.; This is an Open Access article distributed under the terms of the Creative Commons Attribution License (<http://creativecommons.org/licenses/by/4.0>), which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

**Peer-review history:**

The peer review history for this paper can be accessed here (Please copy paste the total link in your browser address bar)

<https://www.sdiarticle5.com/review-history/103863>